=
A 2 0 & At H Al A
e =S0la et &
AL S
ALy =z
HAEHFH AR (9 ® =)
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
[=EmE==gni; 20,107,673 27,084,534 A6,976,861
= 1,784,149
s 635,315
< 1,999,616
s 15,688,593
283 =M 80,671 142,592 261,921
< 7,162
[ia 73,509
HEHF AR ZA 80,671 142,592 261,921
= 7,162
s 73,509
DTS 8,250 10,150 A 1,900
201 2et24d] 8,250 10,150 A1,900
01 At 22l 8,250 10,150 A 1,900
ODHEBEE OSAESI AM24E
770,000& * 13 770
O2#MEEX T M=
935,000& = 1000 = 80% 7,480
WA 13,000 0 13,000
401 Al Bl 28I 13,000 0 13,000
01 A& HI 13,000 0 13,000
Ozt wsg ZAEH 13,000, 000& 13,000
I3tz 31,000 37,100 26,100
201 Let24d] 31,000 37,100 A6,100
01 At 22l 31,000 37,100 A 6,100
O2BRML =Y, SII, 2B} 228
30,500,000 = 80% 24,400
O=ZFM 2 XNd SSSLAAE BRAE
= 6,600,000 6,600
ANges 3729 2e| 7,162 7,150 12
< 7,162
401 AIEHI L 20 7,162 7,150 12
= 7,162
01 A& HI 7,162 7,150 12
OXNges &9 2e| 7,162,000 7,162
< 7,162
ENELASR 9,140 34,200 225,060
202 04 dl 7,140 10,200 A 3,060
01 = LH Yl 7,140 10,200 A 3,060
OALHE FFF=& Hl  10,200,000& * 70% 7,140
203 YR =& 2,000 2,000 0
03 A FXH R =AY 2,000 2,000 0
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EX: A4 ns
Hu: ALHY EX
el AL B SRS CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OHAENE RN & SH| 2,000,000& 2,000
cz¥E 2 12,119 51,992 N 39,873
101 2121 H] 12,119 7,992 4,127
04 JI2tHIZ22NEE S 12,119 7,992 4,127
OEZzHEEFI gRFEX £ 12,119
-= 1,819,550 ~ 1H « 68 10,918
-AEE J|&28g3 10,917,300 * 11% 1,201
N e HM & A 6,302,629 14,304,836 A 8,002,207
= 1,763,149
= 45,000
= 4,494 480
D EETAAY 853,500 1,955,000 A1,101,500
0 ESXB4 53,500 55,000 A 1,500
202 04d| 3,500 5,000 A 1,500
01 2L Hl 3,500 5,000 A 1,500
OEzdR F=XHYI 5,000,000& = 70% 3,500
401 A& HI L 2 0HHI 50,000 50,000 0
01 Al&H| 50,000 50,000 0
o=k 022X EXNE4 50,000,000 50,000
A2 A2 2 E ST A AN 300,000 0 300,000
401 AIEHIZL 2 0HY| 300,000 0 300,000
01 A& H| 300,000 0 300,000
O LAa-2AHZ2E 55) 2T &2 (L=0.3km)
300,000,000& 300,000
BHQF-BHQO2F 2= ST A A 500,000 0 500,000
401 Al HI L E0HHI 500,000 0 500,000
01 Al&HI 496,400 0 496,400
QUEHOF-8HOI2HZ2 & 1153) 2 & & Z & (L=0.4km)
496,400,000& 496,400
03 Al 201 Y| 3,600 0 3,600
QUEHOF-8HOI2H 2 & 115) 2 S & Z & (L=0.4km)
500,000,000& * 0.72% 3,600
sHEC&E L& 550,000 6,700,000 A6,150,000
sHEZZ0 =224 50,000 50,000 0
401 Al HI L £ 0HHI 50,000 50,000 0
01 Al& b 50,000 50,000 0
OsHExz2 0lssX EXNEA 50,000,000 50,000
HE-BEE2 sHEEZZSHIHAIY 500,000 500,000 0
401 Al HI L 2 0HHI 500,000 500,000 0
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2N
X ZH -
L= B
el

o =Y
20T x
m H El

s
Ausmy
CRHEE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 496,850 496,400 450
Od2-2&(2lk 2025)2t sHEEZ2E L E(L
=0.6km) 496,850,000 496,850
03 AlE 2 THHI 3,150 3,600 A 450
Od=2-2&((2lk 20258)2 sHEZZE#ZH(L
=0.6km) 500,000,000& * 0.63% 3,150
CEE2RAESAM 4,899,129 5,649,836 AT50,707
= 1,763,149
S 45,000
s 3,090,980
Mol =224 358,104 447,620 A 89,516
201 £B-2dH| 93,084 120,220 N27,136
01 At 22l 11,280 21,700 A 10,420
Oc2E4+% XA
7,000,000& = 80% 5,600
O+8 2 Soiti® S222X Al
4,000,000& 4,000
OM&zY &= 150,000& * 9 * 80% 1,080
S22 Uola M 3¢
50,000& = 12& 600
02 =224l 81,804 98,520 AN16,716
OE2E+3 il & MEXt] 8IS
200,000& = 12& 2,400
OMEXD 4Rz 150,000& » 12& 1,800
Oz el WHI |Xdl 7,248
-0 FI |X 2el 200,000 = 15CH = 80% 2,400
-0HI A2EB(CHAI )
4,200& * 30000 * 80% 1,008
-HHI RFH
1,600 = 1500 = 200£ ~* 80% 3,840
ON&aE) SFU 11,136
-1€ MEdZI) |2FUH
1,6002 » 9CH = 304 =« 108 * 80% 3,456
-15€ HMEAZI 2FUH
1,6002 » 10CH = 304 * 203 * 80% 7,680
O1EEY KX 10,880
-zl 4l 2,000,000& * 2CH = 80% 3,200
- &0
1,6002 » 200 = 2504 = 128 * 80% 7,680
OM#AIl ==elhl 50,000,000& * 80% 40,000
22 AZEYUH(D0AS, =2 LT) DBRAE
—’F 1,650,000 * 42| 6,600
OMEZHIALD SABHAAE
120,000& * 12&€ 1,440
OS4dE HMERE 2R HES
300,000 300
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AL WNEN
N EALETE
EZ2RNEAY ol A Q)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
206 M = Hl 129,520 161,900 N 32,380
01 & bl 129,520 161,900 AN 32,380
O&dlitizs D7 20,400,000& * 80% 16,320
ORAdHFHUZEMN S 2NN 2L
8,000,000& * 80% 6,400
ootAaz2 A0tExMN 2
12,000& * 1,000%Z * 80% 9,600
OMAEZEH SXNES=M FL(LRY HUE , &
28 5) 1,500,000& * 80% 1,200
OM&EM Y 96,000
-3 sE 60,000,000& * 80% 48,000
-HEsE A2 60,000,000& * 80% 48,000
401 Al HIL 200 134,000 134,000 0
1 A& I 20,000 20,000 0
OweI|, Xt DXl OFE & HM==4&Hl
20,000,000& 20,000
03 A& 20 b 114,000 114,000 0
OME <« THoll HHl LX2(1hE Hx)
600,000& = 10CH * 103 60,000
OME <« Mol &HHl LXS(24D1)
600,000& * 9CH * 103 54,000
405 XtabF SHI 1,500 31,500 230,000
01 AL 2B F SHI 1,500 31,500 A 30,000
OO0l 2| 2 500,000& * 3CH 1,500
T SAEFAY 948,859 1,217,320 N 268,461
1 A& 82 20| 948,859 1,217,320 N 268,461
01 A& HI 930,000 1,200,000 A 270,000
oz RANES 300,000,000& 300,000
OO0tetg +#2t &bl 50,000,000& 50,000
OZ& XHZM(27M =, 1L=25km)
100,000,000 100,000
O T2EXE HHI(27H =)
200,000,000& 200,000
O0tA2AMN 2| (L=1km) 200,000,000& 200,000
O=% =2 JHl S 80,000,000& 80,000
03 A& 20 b 18,859 17,320 1,539
OZ2&egwiEs UL 13,000,000& 13,000
O SXEE AY 930,000,000& * 0.63% 5,859
ECZ RAUESAY 974,017 1,379,896 AN 405,879
401 AIEHIL 20| 974,017 1,379,896 AN 405,879
01 Al& Bl 955,000 1,360,000 A 405,000
OsHEEZ RAEH 300,000,000& 300,000
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AN A4S0
M NYCALHTR
2 E2RIEAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=sHEEZE UHHEM 100,000, 000 100,000
OO0tAZH M 2I[(L=1km) 150,000, 000& 150,000
Os0HEE=z =2 &l S 80,000,000& 80,000
OuERXE=(560M2) 200,000,000 200,000
Ongy ZUotdHFH(LEW S) 65,000,000 65,000
Oug WAHdsEIN(ELW S) 60,000,000 60,000
03 Al 2 0HHI 19,017 19,896 A 879
OsHEEZZRAES FHILXE
13,000, 000& 13,000
OsHEZZRNE> AtY
955,000,000& * 0.63% 6,017
o 2 S0t 2 5,000 5,000 0
35 & =SS 5,000 5,000 0
01 =& 5,000 5,000 0
otfa=s 500,000& = 10A 5,000
0elolE2s2Y RAE+ 100,000 100,000 0
401 Al HI K 2018 100,000 100,000 0
01 A& HI 100,000 100,000 0
SR 2= (650 ) 100,000, 000& 100,000
Ot st Bl sl XA 100,000 100,000 0
= 50,000
i 50,000
401 Al HIZ 201 Y] 100,000 100,000 0
= 50,000
i 50,000
01 A& HI 100,000 100,000 0
OMA™ 1919.4.2. SAHE ZHEAY
100,000, 000& 100,000
= 50,000
i 50,000
2 ¥ SHEEZ ESEIAY 250,000 370,000 A 120,000
401 A& HIZ 201 I 250,000 370,000 A 120,000
01 A& HI 250,000 370,000 A 120,000
odsel sHEZ2 2 =4 X (L=300m)
150,000, 000& 150,000
O&l-xt& 2t ol &= A x| (L=200m)
100,000, 000& 100,000
Hol=s2AE (2%) 777,313 0 777,313
= 777,313
401 Al HI K 2018 777,313 0 777,313
= 777,313
01 A& HI 777,313 0 777,313
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AN A4S0
B YCALSTE
2 E2RIEAY )
= _ — d =
SA - BB B (BA) - MM - BHES e 52
OMl=2AI (25) 777,313,000 777,313
= 777,313
HHEFAS (SHEZZ) 785,836 785,836
= 785,836
401 Al HIZ 201 8] 785,836 785,836
= 785,836
01 A& HI 785,836 785,836
OMai=2AMS(=sHESR) 785,836,000 785,836
= 785,836
=22S 22Ul 22 FHAY 50,000 50,000
401 AIEHI L 20 50,000 50,000
01 A& HI 50,000 50,000
02325 2lel(sHE 101s4) A2 Fy|
A 50,000, 000& 50,000
LOESTH ALY 150,000 150,000
401 AIEHI L 2 CHYI 150,000 150,000
01 A& HI 150,000 150,000
O2dzel 229 25729 HE ALY
30,000, 000& 30,000
Oss2cl 229 25729 ALY
30,000, 000& 30,000
Oakel Z2Y L2529 A ALY
30,000, 000& 30,000
O4&d2el 229 2579 ALY
30,000, 000& 30,000
Odzzel 229 L2579 HEAY
30,000, 000& 30,000
ZIEBANAE(AFE ) 300,000 300,000
= 150,000
< 45,000
i 105,000
401 Al HIZ 2018 300,000 300,000
= 150,000
< 45,000
e 105,000
01 A& HI 300,000 300,000
OXJNIZE2AAE (ALE2]) 300,000,000 300,000
= 150,000
< 45,000
fia 105,000
AN BEEUAMA(HHAMSHEUNEN SEHA) 100,000 100,000
401 AIEHIZL 28I 100,000 100,000
01 A& HI 100,000 100,000
Ot 22 AY 100,000, 000& 100,000
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2N

el

2
W
iml

Ha
by

[

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
sy N 12,404,486 12,593,612 A 189,126
= 21,000
s 635,315
< 1,947,454
s 9,800,717
wsHASX 12,391,786 12,584,457 A 192,671
= 21,000
s 635,315
< 1,947,454
s 9,788,017
WSOt X & At 11,000 13,000 A 2,000
301 getEd 3 3,000 5,000 A 2,000
12 JIEBtE& = 3,000 5,000 A 2,000
O2& UG AzEtd nEX XA
100,000& * 30 3,000
307 giz2tol & 8,000 8,000 0
02 IS AMHEL 8,000 8,000 0
OuUsSHEX ALY X2 8,000,000& 8,000
WSetEAE2e 2 860,177 1,116,044 A 255,867
201 LBr2g| 62,000 63,000 21,000
01 At 22l 55,000 59,000 A 4,000
Ounsetd 222 HMAH 20,000,000 * 80% 16,000
OusStlss 2HEBE =82 28,000,000 28,000
On=Itet BIIZA =2 11,000, 000& 11,000
02 =224l 7,000 4,000 3,000
O0ellnsSusTAE RAZ 4
2,000,000& 2,000
OIE3JtMHet JIJI2LH (HIIe3, S48 8)
5,000,000& 5,000
206 M= Hl 3,200 4,000 A 800
01 =8l 3,200 4,000 A 800
OUESAHHEE 2L (cHHtE )
4,000,000& = 80% 3,200
401 Al B2 28I 794,977 1,049,044 AN 254,067
01 A& HI 790,000 1,042,000 A 252,000
OdlzIl, ZES &EXAY 170,000, 000& 170,000
OLBdSS WMAZE (MO, &2 )
50,000,000& 50,000
OuLsSeHEAEE FHIAMY 50,000,000& 50,000
OIs(&s& ,ds) RAUEEIM EXAY
40,000,000& * 404 2 160,000
OSHZ 28 DEAFANL SNSHAA(SH
201,284 ,48) 80,000,000& 80,000
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2N
X ZH -
L= B

el

a

Ha
by

[

SRSTEN
O o nx
e 02 E

JO 0 o
L=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 1,351,495 1,351,495 0
< 315,329
s 1,036, 166
09 2HAHAEXS 1,351,495 1,351,495 0
OsHEHA 2SAE HEXE
630,658,000 630,658
< 315,329
s 315,329
OsHEHA 28AY MEXZ (ZH FIH2)
720,837,000 720,837
HAEEAAH A5 & 2 163,203 181,536 A 18,333
201 €82l 28,800 30,000 A 1,200
02 =524l 28,800 30,000 A 1,200
OHAZEAIAE JJI23FHl
3,000,000& = 128 * 80% 28,800
403 A X EHHS 20l A 134,403 151,536 A 17,133
02 SO 2SOICHSH A2 X 2 EF A I 134,403 151,536 A 17,133
OHAZECHUNI X L AIAE RANES
134,403, 000& 134,403
SEE NERY AY &2 600,000 500,000 100,000
s 300,000
= 90,000
= 210,000
307 21201 A 600,000 500,000 100,000
s 300,000
< 90,000
[ia 210,000
09 2+=HAHEBXS 600,000 500,000 100,000
O=&8 nsezg A XA
600,000,000 600,000
s 300,000
< 90,000
s 210,000
BIAl JIEZH =2 XAS(ZHI) 36,000 36,000 0
< 10,800
s 25,200
307 21201 A 36,000 36,000 0
< 10,800
[ia 25,200
09 2+=HAHEBEXS 36,000 36,000 0
OEAIEZN =3 ANJA ALY 36,000,000 36,000
= 10,800
fia 25,200
BAl HEZHM =2 XEAMY 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
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AN A4S0
M DsHE A
S DSHYSH CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 10,000 10,000 0
QHAISIEZ N =2 X AS (XHA)
10,000, 000& 10,000
Al 2HEB2AAIAH 2H 2,127 2,499 A372
308 A EHHSOIA 2,127 2,499 A372
113/ 2SoHUHSBHEAEALS I 2,127 2,499 A372
OYAl 2HFE2AAE 22 2,127,000 2,127
SIYEA 29Y 201,500 201,500 0
as 50,000
< 60,600
e 90,900
301 LBEAZ 201,500 201,500 0
s 50,000
< 60,600
s 90,900
12 JE2 43 201,500 201,500 0
Os|LEA 2EXA 201,500,000 201,500
s 50,000
< 60,600
s 90,900
SEguss=H &Y Bx 42,000 84,000 A 42,000
= 21,000
< 6,300
s 14,700
405 Xt&tE SHI 42,000 84,000 A 42,000
= 21,000
< 6,300
s 14,700
01 XA = ZH SHI 42,000 84,000 A 42,000
OEg8us+=t ZgXA 42,000,000& 42,000
= 21,000
< 6,300
i 14,700
SEgussH 29 212,000 172,178 39,822
307 gl2tol & 212,000 172,178 39,822
05 RIZHRI & 3 212,000 172,178 39,822
OEgusEx=t 29X 212,000
i ral:] 201,000, 000& 201,000
NE=E=DNI= = 11,000, 000& 11,000
FEHS 244,650 400,438 A 155,788
201 Lt 94,878 98,638 A 3,760
01 At 2t 2l 11,540 15,300 A 3,760
OFEFXYR =8l 4,800
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AN A4S0
M DsHE A
S DEBASH (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FEX A9 JHE=E8 50
300& = 10,00001 = 80% 2,400
-FEXN AT € EESE MEHAH
300& = 10,00001 = 80% 2,400
OXtg Aol 70,0003 = 40CH = 80% 2,240
OSY=EX AR 08 ==&
80& = 10,000A 800
O=SYF=ZX EE2E Sd3tE
50,000& = 5004 = 80% 2,000
OFZXHs & NSHRFE S
1,500,000& * 80% 1,200
OdEINE 2 U =2 500,000& 500
02 =24l 83,338 83,338 0
OCCTV QYRS ¥ dMIIR3
120,000& * 420H » 128 60,480
OCCTV & X &=t 21,000,000& 21,000
OJAAHE =EHAIAE S E=H
140,000& * 128 1,680
ORHEXNIANSA HIUHs S&==2
3,550& * 50CH 178
202 o4dl 9,772 11,800 A2,028
01 = LH o4 1l 9,772 11,800 A 2,028
OCusdd J2F& 0dl 12,960,000 = 70% 9,072
TONZ EE O 4237 oyl
1,000,000& * 70% 700
401 AIEHI L 20 130,000 290,000 A 160,000
01 A& Bl 130,000 290,000 160,000
FEXES It EXAY
20,000,000& = 3CH 60,000
OFZXE=E Jtbllct dsHHE ALY
40,000,000& 40,000
OFZ XS K72 =AM 30,000,000& 30,000
405 XH&HF S HI 10,000 0 10,000
01 et ESFH S 10,000 0 10,000
O=&x LDXNMN SEII 10,000, 000& 10,000
FEXNSX SEX DR LA (EEHAY) 2,000,000 1,300,000 700,000
< 1,400,000
i 600,000
401 Al HIZ 201 8] 2,000,000 1,300,000 700,000
< 1,400,000
e 600,000
01 A& HI 2,000,000 1,300,000 700,000
Ozt=Xsi SBEX0X ZEA
2,000,000, 000& 2,000,000
< 1,400,000
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AN A4S0
My DEHF N
S DSHYSH CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 600,000
HgsE2C2Y 36,684 48,254 A 11,570
201 €2l 26,064 35,654 A 9,590
01 At 22/l 22,184 33,734 A 11,550
OXNsXHES MA MZH
4,000 * 88 * 100& = 80% 2,560
OXsxt 222 & =2 MH
300,000& = 10& = 80% 2,400
OXNSX MEHE DXM M
77,0003 = 102fA « 65 * 80% 3,696
OANSLIHES U SAZ HA A
4,000& * 88 * 100& = 80% 2,560
OXgSELY LEt=EZH| 1,200
-24(84) 1,000,000& * 80% 800
-2AM(3E) 500,000& = 80% 400
OXNSeEI 42F 7l
30,000 = 20H * 128 = 80% 576
OALIIH B2 L B9 R
100,000& » 1000z = 131 = 80% 800
OAEIHEZSMEIS ItEF Y
2,500& = 2,000& * 80% 4,000
O3JI&8FI gtz 33,000 = 1CH = 12& 396
O&F=D Xz 33,000& = 104 ~ 12& 396
OSA gtz 300,000 = 1CH = 12& 3,600
02 2324gHl 3,880 1,920 1,960
OXsEI RAE=+H
30,000& * 2004 * 128 720
OHEIHEZEAMHGS &5I RAE =4
100,000& * 63 600
OSEAEZZEZ dRXNFANLE KRAL=H
400,000 = 8& * 80% 2,560
202 (44l 8,820 12,600 A 3,780
01 = LH o4 1l 8,820 12,600 A 3,780
OXNESEYRF=E Kl 12,600,000& * 70% 8,820
405 XH&bF S HI 1,800 0 1,800
01 AL ESFH S 1,800 0 1,800
OME&a3I g (2g2D)
1,800,000& = 1CH 1,800
=SES SANEFEL 2Y 136,600 0 136,600
201 Let24dH] 1,600 0 1,600
01 At 22/l 1,600 0 1,600
Ooarls & 23 7¢ 2,000,000& = 80% 1,600
307 glz2tol & 120,000 0 120,000
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AN A4S0
My DEHF N
S DSBS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 120,000 0 120,000
O=28 LABRAL 29 XF 120,000,000 120,000
401 AIEHI L 20 10,000 0 10,000
01 A& HI 10,000 0 10,000
O382 YAERL FHI 10,000, 000& 10,000
405 KtobH S| 5,000 0 5,000
01 AL ESFH S 5,000 0 5,000
O=28 2ANBRAL 235 7¢ 5,000,000 5,000
EEYRFA 30,000 0 30,000
201 Let24] 30,000 0 30,000
01 At 2t 2l 30,000 0 30,000
OEzY=RxA 88 30,000,000& 30,000
N el &2t 12,700 9,155 3,545
Hegzel 12,700 9,155 3,545
101 124 dl 12,700 9,155 3,545
4 DIt Z2XREES 12,700 9,155 3,545
O M4 2 O oY ol 12,700
-= 69,760& * 1H = 164 11,441
“AFB EEDI 2R Y3 11,440,640& * 11% 1,259
HY 2L ZH (AL nSH) 39,887 43,494 A 3,607
JI2ZH(Ad&nsu) 39,887 43,494 A 3,607
JlE2&l 39,887 43,494 A 3,607
201 -4l 34,007 36,894 N2,887
01 At 22l 31,834 33,790 A 1,956
Oger==gH| 6,642,000 6,642
O= &l 9,220,000 9,220
OSA gtz 200,000 = 2CH = 12& 4,800
O&=J 2z 40,000 * 1CH = 128 480
OHEEH 22F 2| 10,692
-ZofZeH 5,544
El
440,000& = 10H = 45 » 33 = 90% 4,752
£y 440,000& = 1CH = 23] = 90% 792
-YHtZ ey 200,000& * 11CH * 23] = 90% 3,960
-SAI(EH ¥ E8)
200,000& = 1CH = 32l = 90% 540
—-FAX 120,000& * 200 * 33 * 90% 648
02 2324l 2,173 3,104 A 931
OdFEH KAt 2,173
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AN A4S0
M HY2IZH (AL nsS)
¢ J2d(HEnsn) (&)
SN BA(SA) - MRAY - BES il HImEET
-CHIIs AR 121
1,300,000 * 28CH = 5% * 70% 1,274
-ZEH 4,000,000& * 12CH = 2% * 70% 672
-5 AHJ| 15,000,000& = 1CH = 2% = 70% 210
—-FAX 600,000& = 2CH = 2% » 70% 17
202 044l 1,680 2,400 AT20
01 = LH o4 1l 1,680 2,400 AT20
Od&dnsy 2= ¢l
2,400,000& = 70% 1,680
203 YR =&l 4,200 4,200 0
04 FN2ELSZ=TH| 4,200 4,200 0
ORAN2EYE=AHI 350,000& = 12& 4,200
Heags(Hdnsn) ,280,000 0 1,280,000
HWEHAXS (AL ns1) ,280,000 0 1,280,000
FUHEELEIAN BES ,280,000 0 1,280,000
701 JIEtSI HEHES ,280,000 0 1,280,000
01 JIEtSI HE =3 ,280,000 0 1,280,000
OFXNEEESH HES 1,280,000, 000& ,280,000
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